= AH O
N = 0 & AF & E Al A
20008 = 20 A =RAIZE S G| H
EAN: A=
M. F=H &F e
CHel: AUIFE 2 (FHANLSHEN) (982
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao Om;m Hl =2
A= 2,660,347 2,578,751 81,596
F=H A A 2,660,347 2,578,751 81,596
AN TS SHIC(ZHANAESESA) 2,660,347 2,578,751 81,596
SHHSHMOIIE MBS 120,000 100,000 20,000
401 Al&HILL20HY| 120,000 100,000 20,000
01 Al&H] 120,000 100,000 20,000
OH2MOIHLE A8 4
120,000,000 x1A! 120,000
A ¥ 2D 65,610 67,610 A2,000
201 LEr2HH| 8,890 10,890 A2,000
01 AtR22/H] 8,000 10,000 A2,000
O1 Yt=H| 8,000
DOMHEX Bllx=r2
1,500, 0002 x5 Al CH 7,500
DEHSEOIIIE A2 DN 2
5002 *1,0000H 500
02 ZBZ=29H 890 890 0
O1 222=2 % HA 890
DEHHSSHAMNOIIIE 22l
50,0002 * 10 Al CH 500
DEHASMHOIIE SIIMEEZ
3,900 100 Al CH 390
202 04 4,800 4,800 0
01 =2LHOIYI 4,800 4,800 0
OANASI 2 Az MIESHMHI(20!)
200,000 %201 x 122 4,800
402 DIZHR=0|A 1,920 1,920 0
02 DI2FCHEH ALY 1,920 1,920 0
OctHed AHOIIIE EYLdEsHY2
1,600 * 100 Al CH* 12 Al CH 1,920
802 BtEt=D|Et 50,000 50,000 0
03 UI4=2S 50,000 50,000 0
OHAHSHOIIE LHESS Btet=
2,500,000 x20 Ml CH 50,000
oyl gl 2,474,737 2,411,141 63,596
801 olldIHl 2,474,737 2,411,141 63,596
01 olidlyl 2,474,737 2,411,141 63,596
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SRl AUFE 2 (FHAMSSESIAH)
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Ouldldl 2,474,737,000& *14] 2,474,737




